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95 4 JPH=PKa + log [glall / imaall (menll]
Log 0.02/0.062
PH = 4.83+ (-0.49) = 4.34

21 3 K =rate / [x]? [y] .«
=3.66x1073/ (2.45x107)? ( 2.45x107)

K = 1.770X10® M2S! )

[C102] 4.8X107%/1.2X10% =(0.02/0.01)"
4=0" n="2

22 3 [f2] 2.4x1073/1.2x10° = (0.2/0.1)™
2=2m m=1
3 =4kl as )

Rate = k[C1O,] [F2]?
K = rate / [C10:] [F]
K = 1.2X107/(0.01)°X0.1

22 4 =1.2X107/ 1X107
=120
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66 5 Kp = P?u1 / ProPr2 .
Kp = (1.04)2/0.693 X0.717
KP =2.176
t¥s =In2/ K-z

28 4 TY% =0.693/2.4x102| 13 da )
=28.875s
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R4 5 [H*] =101 1
[H+] — 10—4.06
=8.7X107
83 2-Ka = [H*]?/[HX] =[10%12]/0.2 =3.7X10*M
PKa=74
174 4 AG=AH-TAS .«
A G = (-590) — (298)X(-200)/1000
(-590) — (-59.6)= -530.4 kj
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